Key Stage 2 Addition and Subtraction

Year 3 Add and subtract numbers mentally, including: a three-digit number and ones ; a three-digit number and tens ; a three-digit number and hundreds.
Add and subtract numbers with up to three digits, using formal written methods of columnar addition and subtraction.

Estimate the answer to a calculation and use inverse operations to check answers.

Solve problems, including missing number problems, using number facts, place value, and more complex addition and subtraction.

Year 4 Add and subtract numbers with up to 4 digits using the formal written methods of columnar addition and subtraction where appropriate
Estimate and use inverse operations to check answers to a calculation
Solve addition and subtraction two-step problems in contexts, deciding which operations and methods to use and why.

Year 5 Add and subtract whole numbers with more than 4 digits, including using formal written methods (columnar addition and subtraction)
Add and subtract numbers mentally with increasingly large numbers.

Use rounding to check answers to calculations and determine, in the context of a problem, levels of accuracy.

Solve addition and subtraction multi-step problems in contexts, deciding which operations and methods to use and why.

Year 6 Solve addition and subtraction multi-step problems in contexts, deciding which operations and methods to use and why.
Vocabulary “ Strategies )
Put together, add, plus, altogether, total, fake away, subtract, distance Expanded Column Method; Compact Column Method.

Strategies from KS1 may be used where appropriate to support ftransition to KS2 strategies and to support mental
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Solve calculations using a place value grid and equipment alongside a column There are six 3-digit addition calculations shown below. . . - . . .
methodto demonstrate understanding. ) b eu o Fillin the missing numbers. 352+ |=480 Fill in the missing digits. 1 Ja+6[ ] =200 The table shows the cost of train tickets from different cities. Sam and Tom have £67-80 between them.
H”p";;:ds ;,‘;';Z S:z B - — 70+99+|:|=2?0 1|:|5|:| +300=1557 ) . ) If Sam has £6-20 more than Tom, how much does Tom have?
@ What is the total cost for a return journey to York for one adult and two children? The barmodel can help children solve these type of problems, please visit ncetm.org
d 579 791 L7 — = - = B H H . . . .
@ GJ@@ 25 ) P e . )u;; l:l 55=284 5|:|28 4“|:| 4788 How much more does it cost for two adults to make a single journey to Hullthan | fo, fiurther information on how to build understanding.
@ +247 — — — l:l _3000=600 |:| |:| l:‘ 0- 2468 = 5002 to Leeds? N
@ (%)(D Which calculations have no carry digits? York Hull Leeds Sam . +£6-20
) %@ Which calculations have a carrying digit only once? What do you notice about the calculations below? Find the missing numbers. Adult - } £67-80
Which calculations have a carrying digit twice? Can you find easy ways to calculate? What doyou notice? u Single £13:50 £16-60 £11.00 .
Sam b leted these calculations, but he s incorrect. Which calculation has the largest answer? Return £24.50 £30:00 £2000 om
E::I\ai:sts::ﬁ;:he h:::::d: o 3;;; mm”ﬂ;ss Which calculation has the smallest answer? Make 9999 Make 9998 Make 9990 Child Single £9.75 £11-00 £8-00 :
+247 a7 5000 + 4000 = 5230 + 400 = 5023 +28= - - 80— £620 =
581 n2 Check that children are looking at the numbers involved, rather than doing the 5000+ l:l =999 5230+ l:l = 9998 5023+ l:l =9990 Retum £1500 £18:50 £1350 :T :g ;6 2:30_;;1 “
calculations. 4000 + 5000 = 4230+ 500= 4023+ 28= 60+ 2= £30
Complete these calaulations. What do you notice? I:I I:I I:I |:| D I:I 4000+ l:l =9999| | 4230+ l:l =9998 | | 4023+ l:l =990 Tom has £30-80
347= 822 Grd= + = 3000+ 6000 = 3230 +600= 3023+ 28= 3000+ |=9999| | 3230+ |=9998| 3023+  |=9990
30+70= BD+20= 60+40 = . . . = = =
Throw a 1 to & dice and each time record the digit in one of the place holders. 2000 + 7000 = 2230+ 700= 2023 +28= _ _ _
33472 8842 66442 The aimis to get the sum as low as possible. Repeat to find different answers. 2000+|:| =9909 ) | 2230+ I:l’ o098 2023+|:| =9990
- - - Could you have done it in a different way? 1000 + 8000 = 1230 +800= 1023 +48= _ _ _
e wmas e Compoe s i oy s, 1000+[ J-9999 | 1230+ |-9998| | 1023+[ -9

300 +700= 800 + 200 = 600+ 400=



